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1 populations simulated for 10000 years for 10 iterations
Scenario Settings Notes: This scenario has proportional distribution for initial population
Sequence of events in each time cycle:
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Extinction defined as no males or no females.

Inbreeding depression with 2 genecic Toad consisting of
20 total lethal equivalents per individual, of which

50% are due to recessive lethals,

and the remainder are lethal equivalents not subjected to removal by selection.

Populations:
Neanderthals

Reproductive System:
Monogany, with new selection of mates each year
Fenales breed from age 19 to age 3¢
males breed from age 19 to age 95
Maxinun age of survival: 95
Sex ratio (percent males) at birth: 50
correlation of EV between reproduction and survival = 0.5
eV sampled from binomial distributions.
Mortality Notes: we assume male and female equal numbers

after reproductive age it does not matter what the death perentage is (no carrying capacity)

Population specific rates for Neanderthals

percent of adult females breeding each year:
with EV(sD): 0
percent of adult males in the pool of breeders: 100
Brood size distribution:
100 percent size 1
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Female annual mortality rates (as percents):

Age 0 to1:  19.86 with EV(SD): O
Age 1 5.58 with EV(sD): 0
Age 2 5.58 with EV(SD): 0
Age 3 5.58 with EV(SD): 0
Age 4 5.58 with EV(SD): 0
Age 5 1.86 with EV(sD): 0
Age & 1086 with EV(sD): 0
Age 7 1086 with EV(sD): 0
Age 8 1,86 with EV(sD): 0
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€0 10: 1,86 with EV(sD): O

Age
Age 10 to 11:  1.86 with EV(sD): 0
Age 11 to 12:  1.86 with EV(sD): 0
Age 12 To 13:  1.86 with EV(sD): 0

Age 13 to 14:  1.86 with EV(sD): 0




